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java. lang.OutOfMemoryError: OutOfMemoryError thrown while trying to throw OQutOfMemoryError; no stack trace available

817 try catch?
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String string -
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Systar. printin(string)
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public int fab(int index) {
if (Holmes.isEnable(...)) { ———
return Holmes.1invoke(....);
} else {

if (index == 1 || index == 2) {
return 1;

1 else {
return fab(index - 1) + fab(index - 2);
¥
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main

xm_im_sdk_receive_message_0

2017-08-04 10:41:40

2017-08-04 10:41:40

2017-08-04 10:41:40

2017-08-04 10:41:40

2017-08-04 10:41:40

2017-08-04 10:41:40

2017-08-04 10:41:40

2017-08-04 10:41:40

2017-08-04 10:41:40

main
main
main
main
main
main
main
main

main

/

statistic.bus AsyncTask #1 AsyncTask #2 productar consumer Thread-1801

HE

$ 500 ZHEE, HATSE1-200% - 5 3

com.sankuai.meituan.setting.AboutMeituanActivity.onResumel()

com.sankuai.android.spawn.base.BaseActivity.onResumel)
caom.meituan.android.comman.performance.utils.ActivityUtil$ActivityLifecycleCallbacksWrapper.onActivityResumed(android.app. Activity)
com.meituan.android.common.performance.utils.ActivityUtil$ActivityLifecycleCallbacksWrapper.logAction(android.app.Activity, java.lang.String)
com.meituan.android.common.performance.utils.ActivityUtil.logAction(java.lang.String)
com.meituan.android.comman.performance.statistics.fps.FpsStatisticsManager.getinstance()
com.meituan.android.common.performance.statistics.fps.FpsStatisticsManager.statisticsStart()
com.meituan.android.common.performance.statistics.fps.FpsStatistics.start()

com.meituan.android.comman.performance.statistics.fps.Fpsinfo.getinstance()
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local t = luajava.bindClass("android.widget.Toast")
local d = t:makeText(getContext(), "Hello World", 0);
d:show();
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public int fab(int index) {

1f (Holmes.isEnable(....)) {
return Holmes.invoke(....): _>
} else {
if (index == 1 || index == 2) {
return 1;
} else {
return fab(index - 1) + fab(index - 2);
+
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public int fab(int index) {
if (Holmes.isEnable(....)) {
return Holmes.invoke (...):
} else {
if (index == 1 || index == 2) {
return 1;
} else {
return fab(index - 1) + fab(index - 2);
+
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local t = luajava.bindClass("android.widget.Toast")

R BIEAR local d = t:makeText(getContext(), "Hello World", 0);
d:show();

2 TR local instance = luajava.newInstance("com.meituan.LuaSample', 365)

5:”?“75?%5&5Fﬁ : g

instance:execute(1, 2)
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android.permission.SYSTEM_ALERT_WINDOW

android.permission.READ_SETTINGS

android.permission.READ_PHONE_STATE

com.meizu.flyme.push.permission.RECEIVE

android.permission.READ_USER_DICTIONARY

android.permission.READ_CONTACTS

android.permission.READ_CALENDAR

android.permission.READ_SMS

com.sankuai.common.PERMISSION

O 0 0 0 0 0 6 ¢ 6 ©
i)l

android.permission.WAKE_LOCK
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MiT%%FE: main-1
v this: com.sankuai.meituan.setting.AboutMeituanActivity

clickCount: int=0
MetaChannel: java.lang.String = ‘undefined'
updateClickable: boolean = true
isActive: boolean = false
mStateSaved: boolean = false
mThemeld: int = 2131493062
mCreated: boolean = false
mNextCandidateRequestindex: int = 0
mReallyStopped: boolean = true
mRequestedPermissionsFromFragment: boolean = false

mResumed: boolean = false
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id 5 seq - method_number < process_id - thread_id = thread_name = version_name 5 time <
1 12d792a1a89723210314409a9df3f062 15870 4788 AsyncTask #1 8.8 1512631869481
2 1b4c0fedba29658bd3eb6e478180e171 15870 4788 AsyncTask #1 8.8 1512631869482
3 e2ebe3a1527239f142155f28655ea91f 15870 4788 AsyncTask #1 8.8 1512631869482
4 p6417f41c2645b733119d7e9b1287416 15870 4788 AsyncTask #1 8.8 1512631869482
S 4d69245191c68b9994715d3af34chb8a9 15870 4788 AsyncTask #1 8.8 1512631869482
6 a/792092e81aeb580cc019d741e84891d 15870 4788 AsyncTask #1 8.8 1512631869482
7 c94291bb8ce3517926¢142b0f02bb76d 15870 4788 AsyncTask #1 8.8 1512631869482

8 8cfbbal9c88144a7f2b6d800ae32f1354 15870 4788 AsyncTask #1 8.8 1512631869482
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com.meituan.passport.UserCenter.isLogin(UserCenter.java:210) 221
com.sankuai.meituan.init.StatisticsEnvironment.getUid(StatisticsEnvironment.java:90)
com.meituan.android.common.statistics.channel.ChannelManager.getlEnvironment(ChannelManager.java:233)
com.meituan.android.comman.statistics.channel.ChannelManager.getDefaultEnvironment{ChannelManager.java:128)
com.meituan.android.common.statistics.channel.Channel.getAllEnvironment(Channel.java: 168)
com.meituan.android.common.statistics.channel.Channel$1.run{Channel.java:1384)
android.os.Handler.handleCallback(Handler.java:815)

android.os.Handler.dispatchMessage(Handler.java:104)

android.os.Looper.loop(Looper.java: 194)

android.os.HandlerThread.run(HandlerThread.java:61)

com.meituan.passport.UserCenter.isLogin(UserCenter.java:210) 216
com.sankuai.meituan.init.StatisticsEnvironment.getLoginType(StatisticsEnvironment.java:100)
com.meituan.android.common.statistics.channel. ChannelManager.getlEnvironment(ChannelManager.java:238)
com.meituan.android.common.statistics.channel.ChannelManager.getDefaultEnvironment{(ChannelManager.java:128)
com.meituan.android.common.statistics.channel.Channel.getAllEnvironment{Channel.java:168)
com.meituan.android.common.statistics.channel.Channel$1.run{Channel.java:1384)
android.os.Handler.handleCallback(Handler.java:815)

android.os.Handler.dispatchMessage(Handler.java: 104)

android.os.Looper.loop(Loaper.java: 194)

android.os.HandlerThread.run(HandlerThread.java:61)

com.meituan.android.base.knb.impl.Environmentimpl.getUserld{Environmentimpl.java:96) 6
com.sankuai.meituan.android.knb. KNBWebCompatDelegate.getUserld(KNBWebCompatDelegate.java:708)
com.sankuai.meituan.android.knb. KNBWebCompatDelegateV2Impl.wrapUrl(KNBWebCompatDelegateV2Ilmpl.java:1074)
com.sankuai.meituan.android.knb. KNBWebCompatDelegateV2Impl$6.run(KNBWebCompatDelegateV2Impl.java:679)
android.os.Handler.handleCallback{Handler.java:815)

android.os.Handler.dispatchMessage(Handler.java: 104)

android.os.Looper.loop(Looper.java: 194)

android.app.ActivityThread.main(ActivityThread.java:5714)
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Name Incl Cpu Time % Incl Cpu Time “:::::;r:‘:::" Excl Cpu Time % Excl Cpu Time  Incl Real Time % Incl Real Time Excl Real Time %  Excl Real Time
» ]l 96 android.view.ThreadedRenderer.draw (Landroid/view/View;Landroid/view/View... 3.6% 554.998 317+0 0.0% 0.000 0.6% 6716.481 0.0% 0.000
> l 97 com.bumptech.glide.load.engine.DecodeJob$SourceWriter.write (Ljava/io/File;)Z 3.6% £53.089 6840 0.0% 0.000 0.2% 2653.485 0.0% 0.000
> I98 com.meituan.android.common.analyse.mtanalyse.Analyzer$EventReportTask.... 3.6% 552.960 1+0 0.0% 0.000 0.5% 5709.861 0.0% 0.000
> 99 com. meltuan andr0|d .common. analyse mtanalyse AnalyzerSEvemReportTask 3.6% 552.960 1+0 0.0% 0.000 0.5% 5709.861 0.0% 0.000

ala¥e o D0 Lo oobioma d 551.015 2740 0.1% 11.842 0.4% 4905.871 0.0% 11.942
~ 101 com.meituan.android.common.holmes.db.TraceDBManager.insert (Ljavajutil/... 3.6% 551.015 27+0 0.0% 0.000 0.4% 4905.871 0.0% 0.000
102 com.meituan.android.common.holmes.trace.Producer$2.run ()\/ 3.6% 551.015 2740 0.0% 0.000 0.4% 4905.871 0.0% 0.000
¥ Parents
I 2 java.util.concurrent.ThreadPoolExecutor.runWorker (Ljava/utilfconcurrenty/... 100.0% i k) 27/27 100.0% 4905.871
¥ Children

l self 0.0% 0.000 0.0% 0.000

101 com.meituan.android.common.holmes.db.TraceDBManager.insert (Ljav... 100.0% 551.015 27/27 100.0% 4905.871
» 103 com.sankuai.meituan.common.net.nvnetwork. NVUserAgentinterceptor.interc... 3.5% 547.179 26+0 0.0% 0.000 0.7% 7380.752 0.0% 0.000
> l 104 com.sankuai.meituan.common.net.nvnetwork.NVDpMapilnterceptor.intercept... 3.5% 546.930 2640 0.0% 0.000 0.7% 7369.983 0.0% 0.000
> I 105 com.sankuai.meituan.common.net.nvnetwark.NVUUIDInterceptor.intercept (L... 3.4% 526.838 26+0 0.0% 0.000 0.6% 6951.670 0.0% 0.000
» 106 com.bumptech.glide.load.resource.bitmap.BitmapEncoder.encode (Lcom/bu... 3.4% 520.606 60+0 0.0% 0.000 0.2% 2430.810 0.0% 0.000
> I 107 com.bumptech.glide.load.resource.bitmap.BitmapEncoder.encode (Ljava/lan... 3.4% 520.606 6040 0.0% 0.000 0.2% 2430.810 0.0% 0.000
» | 108 com.sankuai.meituan.common.net.nvnetwork. NVAntiCrawlerinterceptor.inter... 3.4% 519.983 26+0 0.0% 0.000 0.6% 6894.607 0.0% 0.000
> I 109 com.bumptech.glide.load.engine.DecodeJob.decodeFromSourceData (Ljava/l... 3.4% 518.310 13740 0.0% 0.000 0.4% 4118.670 0.0% 0.000
[ I 110 com.meituan.robust.PatchProxy.isSupport ([Ljava/lang/Object;Ljava/lang/Obj... 3.4% 518.825 500+0 1.1% 172.608 0.3% 3622.434 0.0% 172.608
> I 111 android. graphlcs Bltmap compress [LandrondlgraphlcszItmap$CompressFor 3.3% 516.769 5940 0.0% 0.000 0.2% 2420.773 0.0% 0.000
nAdrnid r als Hitman n S nmnre ald B - M- H 'y 5 o | N/ Y {] Fy [ ) I () [ ] ANANA (] (] 'y

Name Incl Cpu Time % Incl Cpu Time (\"enal Excl Cpu Time % Excl Cpu Time Incl Real Time % Incl Real Time Excl Real Time % Excl Real Time
| 4 lO java.lang.Thread.run (}V 41.7% 6444.688 107+0 0.1% 15.440 68.8% 773545.523 0.0% 15.440
» [ 1 java.util.concurrent. ThreadPoolExecutor$Worker.run () V 40.0% 6188.517 98+0 0.0% 0.000 59.1% 664390.556 0.0% 0.000

2 java.utiL.concurrent.ThreadPoolExecutor.runWorker (Ljava/util/concurrent/Threa... 40.0% 6188.517 98+0 0.0% 0.000 59.1% 664390.556 0.0% 0.000
¥V Parents
l 1 java.util.concurrent.ThreadPoolExecutor$Worker.run ()V 100.0% 6188.517 98/98 100.0% 664390.556
¥ Children
lself 0.0% 0.000 0.0% 0.000
12 java.util.concurrent.FutureTask.run ()V 41.7% 2581.120 153/167 4.6% 30439.964
l25 com. sankual meltuan acuvuty modules UpdateDialog$1$1.run ()V 21.2% 1312.533 11 1.5% 9816.760
A% Dol  601.635 12/12 1.2% 7995.045
B 102 com.meituan.android.common.holmes.trace.Producer$2.run )V 8.9% 551.015 27/27 0.7% 4905.871
Java.util.concurrent. 1 hreadPoolExecutor.getiask (JLjavajlang/Runnable; 5.1% 315.262 418/418 79.0% 524808.492
1 209 com.meituan.android.common.holmes.trace.Producer$1.run (}V 3.3% 206.565 m 3.7% 24255.098
. 293 com.meituan.android.comman.holmes.trace.Checker$1.run (v 2.0% 126.344 25/25 0.2% 1215.501
~ 332 com.sankuai.meituan.activity.modules.DelayRequests.run ()V 1.8% 111.568 m 0.1% 938.185
B 493 java.util.concurrent. Scheduled ThreadPoolExecutor$ScheduledFutureTa... 1.1% 67.961 13/13 0.2% 1141.274
B 589 com.sankuai.meituan.activity.modules.IndexWindows$1.run (JV 0.8% 51.783 2/2 0.1% 919.806
l847 com.sankuai.meituan.activity.modules.AsyncTaskModule$1.run () v 0.5% 31.035 11 0.0% 320.485
858 android.os.AsyncTask$SerialExecutor$1.run ()V 0.5% 30.115 6/6 2.6% 17485.404
l895 java.lang.UNIXProcess$3.run ()V 0.5% 28.203 35/35 0.1% 517.242
l925 com.sankuai.meituan. |n|t Pushlthanagers1 run ()V 0.4% 26.606 1M 0.0% 203.567
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174 E: main-1

HolmesO bject v this: com.sankuai.meituan.setting.AboutMeituanActivity

clickCount: int=0

type String

content List<HolmesField> MetaChannel: java.lang.String = 'undefined'

originHashCode Integer updateClickable: boolean = true

referenceHashCode Integer isActive: boolean = false

value Object
mStateSaved: boolean = false

errors List<String>

mThemeld: int = 2131493062
mCreated: boolean = false

: mNextCandidateRequestindex: int =0
HolmesField

. . mReallyStopped: boolean = true
declaringClass String eI

name String mRequestedPermissionsFromFragment: boolean = false

mResumed: boolean = false
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